
Safe
Box



PicoBricks IDE

PicoBricks IDE Code of The Project 34

35

39

19

31

24

25

26

26

29

13

14

13

8

4

5

6

12

Servo Motor Calibration



1

2

3
4

5

6
7 8

9

10 13
PicoBricks

Main Board Module

11 12



4

Micro USB Cable - 1.5 m

PicoBricks
Main Board Module

Connecting Cables 5pcs.

PicoBricks Button LED Module

Triple Battery Holder

M3 Nuts 18pcs.

M3 x 12mm Screw 7pcs.

M3 x 10mm Screw 11pcs.

PicoBricks OLED ModuleSG90 Servo Motor

PicoBricks LDR Module

PicoBricks Potentiometer Module

 PicoBricks
Motor Driver Module



5



6





8





10



11



12



13



14

Before starting the assembly, you have to manually calibrate the angles of the servo motors. Otherwise,
Servo Motors won’t be working properly. 

Attach the servo horn to the servo motor (1) 

When this step is finished, it means that the servo 

motor is in the center position. It is important that 

you apply this process to other servo motors in the 

set.  Afer processing the other motors, remove the 

servo horn and set aside for assembly.

Slowly turn the servo horn counterclockwise (6)

until it is parallel with the servo motor, as seen in the

image.(7) 

 ( 1 ) 

 ( 2 ) 

 (6) 

 (7) 

Then slowly turn the servo horn clockwise

until it stops. It is not a problem if the servo

horn is not the same as the angle shown in

the image above. The important thing here

is that you have hit the last angle of the servo.
(2)

Remove the servo horn from the servo motor ( 3 )

 Reattach (4) and reposition the servo horn 

 perpendicular to the  servo motor as shown. (5)

 ( 3 ) 

 (4) 
 (5) 

Servo Motor Calibration



15

M3 x 12 mm Screw 2 pcs.

M3 Nut 2 pcs.

PicoBricks LDR Module

M3 Nut

M3 x 10 mm Screw

Servo Motor

In this step, you will need
a screwdriver and pliers.



16

Servo Horn

3

Servo Horn Screw
( Can be found inside the
 package of Servo Motor.)

Servo Horn Mounting Screw
(Can be found inside the package of Servo Motor.)



1717

M3 x 10 mm Screw 2 pcs.

PicoBricks MainBoard

M3 Nuts 4pcs.

M3 x 10 mm Screw 4pcs.

5

4

PicoBricks Motor Driver Board

M3 Nuts 2pcs.



18

M3 x 10 mm Screws 4pcs.

M3 x Nuts 4pcs.

PicoBricks OLED Module

PicoBricks Button LED Module

6

PicoBricks Potentiometer Module



1919

Servo Motor

Motor Driver Module

Triple Battery Holder

LED Module

PicoBricks Button LED Module

LDR Module

Potentiometer Module 

(20 cm)



20

8

7

Make sure all cables are ready to be socketed to
MainBoard. You can go back to page 18 for circuit
diagram. 



2121

M3 x 12 mm Screw 2 pcs.

M3 x 12 mm Screw 

M3 x 12 mm Screw 2 pcs.

M3 Nut 2 pcs.

M3 Nut

M3 Nut 2 pcs.

For T Slot joint setup first, place the
M3 Nut into the Nest (1) Then tighten the
Joint with using M3 x 12 mm Screw.(2)



22

11

12

10

9



23

13
Triple Battery Holder

The Assembly is finished and you can move
on the coding steps.



24



25



26



H

27

���������

������������

���������

�������
�

����������



	��������

�����
������

����

��


������

������

�����

����

������

��������

�����

��_����_�
���

������

����������
�����
�

 ������
�� ������ ����

���­���

G

���­���



��_����_�
��� �������

������������_����_�
��������������������

��������������������������������������������




������������_����_�
����������������������������
�����

I

J

K

x

28



29



30



PicoJR

Go

PicoBlockly

PicoBricks

forever

Set Led on

Go

PicoPY

Go

Simulator

Go

A simple and visual-based
coding platform for kids who are

new to robotic coding

Easily code PicoBricks with block
coding and see python code at the

same time.

Do high-level coding with
text-based python.

With PicoBricks Simulator you can
experience using PicoBricks.

Click ‘‘PicoBlockly’’ button.

IDE

Let’s open https://picobricks.com/ in the brower.

picobricks.com

Click ‘‘IDE’’ button.

rbt.ist/ide

A

B

Educational +  Be Our Ambassador IDE

31

C



Block PicoBricks Simulator

A
PicoBricks

Block PicoBricks PicoBricks Simulator

.    .    .    .    .    .    .    . .    .    .    .    .    .    .    . .    .    .    .    .    .    .    .    .    .    .    .    .

.    .    .    .    .    .    .    . .    .    .    .    .    .    .    . .    .    .    .    .    .    .    .    .    .    .    .    .

.    .    .    .    .    .    .    . .    .    .    .    .    .    .    . .    .    .    .    .    .    .    .    .    .    .    .    .

.    .    .    .    .    .    .    . .    .    .    .    .    .    .    . .    .    .    .    .    .    .    .    .    .    .    .    .

Upload Firmware

Upload Library

Upload Code For Mobile

Click ‘‘Upload Firmware’’ button.

B

Select ‘‘Pico W (Wİ-Fİ)’’.

C

32

���������

������������

���������

�������
�

����������



	��������

�����
������

����

��


������

������

�����

����

������

��������

�����

��_����_�
���

������

����������
�����
�

 ������
�� ������ ����

���­���

2 

���­���

D



33

?

G

PROTOBOARD

Hello World

Close
the door!

J
1

Hello World

G
P
2
7

G
P
2
0

T
X
=
G
P
0
 · 
R
X
=
G
P
1  

G
P
2
1  

·  
G
P
2
2
  

G
P
6

S
D
A
: G

P
2
  ·  S

C
L
: G

P
3

L
: G

P
7

B
: G

P
10

G
P
11

G
P
12

G
P
2
6

L
D
R

R
ELAY

T
E
M
P
. &

 H
U
M
.

L
E
D
-B

U
T
T
O
N

R
G
B
 L
E
D

O
L
E
D

P
O
T
E
N
T

IO
M
E
T
E
R

B
U
Z
Z
E
R

W
IR
E
L
E
S
S

M
O
T
O
R
 D
R

IV
ER

L1

28 22
0

10
 V

220

28
220
10 V

28
220
10 V

18
38

T

2-Plug in USB

1-Hold the BOOTSEL button

3-After connecting the USB, close the RPI-RP2 (E:)
screen that pops up on the screen.

PicoProject

__
File StopRun Doc / Py

After making the connection, the
connection icon will change.

Cancel

ide.picobricks.fun wants to connect o a serial port

Board CDC (COM3) - Paired

Connect

Doc / Py

2 

3

��������������
��� �������

�����������������������
��������������������

������������������������������������������������




������������������������
����������������������������
�����

F

E 

H

x



PicoBricks IDE Code of The Project

Let’s define each character of the correct password to
the elements of the list by creating a list called
“password”.
Let’s determine its initial value by creating a variable
called “counter” and set the servo motor to the initial
position.

It is a loop and condition structure that runs until the
correct password is entered after the lid of the SafeBox
is closed. 

When the lid is closed, the password screen is reset.

It is the function that determines the texts to be
written on the OLED screen when the lid of SafeBox is
closed. 

set counter   to 0

foreverforever

PicoBricks

Set Servo               AngleM1

Set Led                           topassword create list with 1 2 3 4 - +

set     counter     to 0

0

Read Potentiometerif

^

55000 do

Read Buttonif =

Set Servo              AngleM1 90

startOLED

while

Set Servo               AngleM1 0

counter ^ 4

1

userPassset                             to round Read Potentiometer x 65535100

Write Text to Screen X          Y

Write Text to Screen X           Y

30

64 25

12 ‘‘ Password’’

userPass

userPass

Show Screen Buffer

Clear Screen Buffer

Set Led

and

on

Set Led

= item                       of password do

Set Led off

0.3

change counter   by 1

Serial Print

counter

counter

counter = 4 do

wait 0.3

Write Text to Screen X          Y

Write Text to Screen X           Y

10

55 20

10 ‘‘ Closed the lid’’

‘‘ to’’

Write Text to Screen X           Y0 30 ‘‘lock the SafeBox’’

Show Screen Buffer

to     startOLED

34



35



36



37

l
then



38



3139



3240



41



42



..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

..................................................................................................................................................................................................................

43




